## St. Clair County Road Commission Bid Comparison

Contract ID:

22-010

**Description:** 

Kenockee Township

Location:

M-136 Kilgore to Beard

Projects(s):

22-010

Rank	Bidder	Total Bid	% Over Low	% Over Est.
0	ENGINEER'S ESTIMATE	\$378,882.00	-2.62%	0.00%
1	(00656) Ace-Saginaw Paving Company	\$389,107.00	0.00%	2.69%

Contract # 22-010 (M-136 Kilgore to Beard)

MERL: 2021.1.0

					(1) Ace-Saginaw Pa	aving		
Line Pay Item Code	Quantity	Units	(0) ENGINEER'S E		Company			
Description			Bid Price	Total	Bid Price	Total	Bid Price	Total
0001 1100001	1	LSUM	\$44,000.00	\$44,000.00	\$25,000.00	\$25,000.00		\$0.00
Mobilization, Max								
0002 3077031	530	Ton	\$35.00	\$18,550.00	\$51.00	\$27,030.00		\$0.00
_ Shoulder, Cl II, Modified								
0003 5010008	630	Syd	\$14.00	\$8,820.00	\$15.00	\$9,450.00		\$0.00
Pavt for Butt Joints, Rem								
0004 5010061	70	Ton	\$120.00	\$8,400.00	\$185.00	\$12,950.00		\$0.00
HMA Approach								
0005 5012036	2,700	Ton	\$90.00	\$243,000.00	\$91.10	\$245,970.00		\$0.00
HMA, 5EL								
0006 8110233	19,200	Ft	\$0.15	\$2,880.00	\$0.17	\$3,264.00		\$0.00
Pavt Mrkg, Waterborne, 6 inch, White	е							
0007 8110234	12,800	Ft	\$0.15	\$1,920.00	\$0.17	\$2,176.00		\$0.00
Pavt Mrkg, Waterborne, 6 inch, Yellov	W							
0008 8110253	19,200	Ft	\$0.10	\$1,920.00	\$0.11	\$2,112.00		\$0.00
Pavt Mrkg, Waterborne, 2nd Applicat	ion, 6 inch, \	Nhite						
0009 8110254	12,800	Ft	\$0.10	\$1,280.00	\$0.11	\$1,408.00		\$0.00
Pavt Mrkg, Waterborne, 2nd Applicat	ion, 6 inch, `	<b>Y</b> ellow						
0010 8120035	65	Ea	\$16.00	\$1,040.00	\$13.00	\$845.00		\$0.00
Channelizing Device, 42 inch, Fluore	scent, Furn							
0011 8120036	65	Ea	\$1.00	\$65.00	\$1.00	\$65.00		\$0.00
Channelizing Device, 42 inch, Fluore	scent, Oper							
0012 8120140	2	Ea	\$350.00	\$700.00	\$250.00	\$500.00		\$0.00
Lighted Arrow, Type C, Furn								
0013 8120141	2	Ea	\$100.00	\$200.00	\$50.00	\$100.00		\$0.00
Lighted Arrow, Type C, Oper								
0014 8120170	1	LSUM	\$14,000.00	\$14,000.00	\$15,000.00	\$15,000.00		\$0.00
Minor Traf Devices								

Contract # 22-010 (M-136 Kilgore to Beard) MERL: 2021.1.0

Line Pay Item Code Description	Quantity	Units	(0) ENGINEER'S E	STIMATE Total	(1) Ace-Saginaw Pa Company <b>Bid Price</b>	ving <b>Total</b>	Bid Price	Total
0015 8120350	360	Sft	\$3.50	\$1,260.00	\$2.00	\$720.00		\$0.00
Sign, Type B, Temp, Prismatic, Furn								
0016 8120351	360	Sft	\$0.50	\$180.00	\$1.00	\$360.00		\$0.00
Sign, Type B, Temp, Prismatic, Oper								
0017 8120370	1	LSUM	\$14,000.00	\$14,000.00	\$10,000.00	\$10,000.00		\$0.00
Traf Regulator Control								
0018 8122002	770	Ft	\$1.50	\$1,155.00	\$2.50	\$1,925.00		\$0.00
Pavt Mrkg, Wet Reflective, Type R, Ta	ape, 6 inch,	Yellow,						
Temp 0019 8122188	12	Ea	\$500.00	\$6,000.00	\$300.00	\$3,600.00		\$0.00
Rumble Strip, Temp, Portable, Furn			, , , , , ,	, , , , , , , , , ,	,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		,
0020 8122189	12	Ea	\$50.00	\$600.00	\$1.00	\$12.00		\$0.00
Rumble Strip, Temp, Portable, Oper								
0021 8210001	5	Ea	\$700.00	\$3,500.00	\$750.00	\$3,750.00		\$0.00
Monument Box								
0022 8210010	5	Ea	\$700.00	\$3,500.00	\$750.00	\$3,750.00		\$0.00
Monument Preservation								
0023 8220013	9,560	Ft	\$0.20	\$1,912.00	\$2.00	\$19,120.00		\$0.00
Centerline Corrugations, Milled, HMA								
Bid Totals:				\$378,882.00		\$389,107.00		

## St. Clair County Road Commission 2022 M-136 Asphalt Overlay Kenockee Township, St. Clair County, MI August 25, 2022 @ 10:00AM Bid Opening

Bidder	Bid Amount	Bid Bond Y or N
1. Best Asphalt		
2. P.K. Contracting, Inc.		
3. Eastern Asphalt Company, Inc.		
4. Boddy Construction		
5. Ace- Saginaw Paving Company	\$ 389,10700	Y
6.		
7.		
8.		
9.		
10.		
11.		
12.		

Opened by:

Witnessed by